Multiplying Two Binomials (I)

Simplify each expression.

(=5g" — Tg)(—3g" — 3¢°)

(=7¢" = 7¢%)(2¢" + 7¢°)

O

3. (—9p* + 3p*)(6p — 2)

(A9 (=8 + T

W

5. (4ot + 40%)(T0° + 90t)

6. (—9w* + w?) (6w — 9)

7 (4r® + 9t (=3r® + 6r?)

(922 +62)(72 — 2)

(=2fP = 9f%)(=2f* = Tf)

e
N®)

10, (=Tf+7)(=2f% —4f?)
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Multiplying Two Binomials (I) Answers

Simplify each expression.

- (=5¢% = T9)(=3¢" - 3¢°)
= 15¢° + 36¢° + 21¢*

)

(=79" =79 (29" + 79"
= —14¢® — 639" — 494"

(—9p° +3p*) (6p — 2)
— —54p* + 36p° — 6p°

()

(AL I8+ T
= 32f7 —100f% + 63f°

Ot

(4ot + 40°)(To° 4+ 9t
= 280" + 640° + 3607

6. (—9w* + w?)(6w — 9)
= —54w® + 87w — 9w’

3

(49 9t (=3 + 67j2)
= —12r® — 3r" + 54¢°

00

(922 +62)(72 — 2)
— 6325 + 242 — 122

C(=2f2 = 9f%)(=2f* = Tf)
=45 4+ 3211 + 633

e
O

10 (=7f+7)(=2f° — 4f?)
= 14f* + 14f% — 28
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